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[0[4] Write funckim Ustiny aloles

Lets recall the parent-finction or exponertiol funchovs:
)= (@) (r)*
A= Y-value when x=0
r= Common rotho

& @
s6]2 [1 |5 fos|me MEENENEIED
£(x)= (1)(5) (x)= ()"
vew) Transformations ¢ Exonnendial, Tunchions
qv&ﬁ graphing mcmmr.)?
Let's consider the fllowi el fancrion
g o be Sy et o

f= @)
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Whatt does x)= (3)(2)*+1 ook Like?
‘The graph shiftel ufl w\ljr.

What dves )= (3)(2)* -1 [ook Like?
The graph shifted dovvn A unit-

What dves £6)= (3)(2)™ ook Like?
The graph shifted vight 2 unit




What- does £6)= (3) (@)™ ook Like? /
_n\egrmph shiftel qlt A unit

\Nho\Jr does F)= (3)@  look Like?

rhrelecﬂo\oro the Y-
éc% flected auroes the Ynns.

Cercnl (fls — (lemurte;
Tre parort: fnchion fir expmenbal, fandtins > £&)= () (b)*
(] T} (a)(w T —>chift up ¢ wis  fTC

2) £ U - C = shifd o\oww ¢ whits (0 -C

B = (a)() — chift eft ¢ uniks £x+0)
4] £x)- (m b" ) — Shift tight ¢ mnats F(x-0
.{@q (A) (b)x £ 0<b<dl —> reflechon auross Y-S




(Exanmples) Fiom the funche, detemintre tuns S,

DLxE B+ 6 @ fx) = 6)(3")
Sturts at (015)‘ Starks o (0,9
Comin Fovisg LS 3 COMMIM a0 1S3

Hawmsfamakon - Sitt up b Yanstvmean : Sifts left 1

@ F(=(9@%)- @)= @ - 6
Starts at (02) Stwts at (0,2)
Comm v rg%b L8 QIm—H Y COMNMA, TV LS _42'-__
A, marm: S n vl d
prpe Shift \cfwfu i s ;ﬁﬁ&%@
RS

(Move Examples) Wrte fanchms using dgsunphms .
© Twdm suts ok (0,52 with (v o 3 where shifbwy left
3 wivks — J)=(5)(3*"7)

© Funchon starte at (0,2) with o, vaho F whene &
wp %%"L”;c; ~1C(x)=(2)vzl°r3*+5mm o i

(®) Funchon, sfacts ot (0,-2) with amm vafd % whore i shifts
\(f\/j‘l\‘kZ wats Y owp 3wy, _-F(x):(—l)%x—zj +3
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xamples) Skebch the graghs of-

@—f(x)— (53 +0

£09=(S)3Y+
/‘ MO
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B£60=(2E*Y)- 6

Fo=(22) @)(z"“s)
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Ef®)= @ - 6
'V-ﬂ)@\l)(%jx

R

information, lee-apcalculus.weebly.com.



